ITEC314 – MULTIPLATFORM PROGRAMMING

Tutorial 02 – Exercise for MT 1
1. Write a method named “birthday” that will get three integer arguments day, month and year. This method should calculate the day of the week of the coming date and display it (as a console output). 

For the call

        birthday(1,4,2011);

The output should be:   

The birthday is on Friday 
public static void birthday(int day, int month, int year) {

// Method header 1 pts

            GregorianCalendar bd= new GregorianCalendar(year, month-1, day);

                                          ;         // GregorianCalendar variable definitions 2 pts
            switch(bd.get(Calendar.DAY_OF_WEEK) {        //  3 pts

             case 0:






// Cases 1 pt for all

                                 System.out.println(“The birthday is on Sunday”);

                                Break;
             case 1:

                                 System.out.println(“The birthday is on Monday”);

                                Break;
             case 2:

                                 System.out.println(“The birthday is on Tuesday”);

                                Break;
             case 3:

                                 System.out.println(“The birthday is on Wednesday”);

                                Break;
             case 4:

                                 System.out.println(“The birthday is on Thursday”);

                                Break;
             case 5:

                                 System.out.println(“The birthday is on Friday”);

                                Break;
             case 6:

                                 System.out.println(“The birthday is on Saturday”);

                               Break;           
 }            }

2. Write a method “week_of _the_year” that will get three integer arguments day, month and year. This method should calculate the week of the year of the coming date and display it (as a console output) as it is shown in the sample run below. (5 points)
For the call

        week_of_the_year(2,11,2010);

The output should be:   

The given date is on the week 44 of the year 
Solution:

public static void week_of_the_year(int day, int month, int year) {
// Method header 1 pt

GregorianCalendar cal = new GregorianCalendar(year, month-1, day); // 2 pts

System.out.printf(“\n The given date is on the week %d of the year”,   

                                   cal.get(Calendar.WEEK_OF_YEAR);                 // 2 pts

}
3. Write a method with a name “calculate_rent_fee”.It should get an three integer arguments named  “year”, “month”, and “day” to indicate renting day of the car.. Your method should calculate the renting fee and return it to back.
Note that, price of rent is given as $40/days.
Solution

  public static double calculate_rent_fee(int year, int month, int day){

          double result;

          GregorianCalendar startTime = new GregorianCalendar(year, month-1,day);

          GregorianCalendar endTime = new GregorianCalendar();

          long elapsedTimeInMilliSec =



endTime.getTimeInMillis()-startTime.getTimeInMillis();

          result=elapsedTimeInMilliSec/(1000*60*60*24)*40;

          return result;

      }
4. Write a method with the name "calculate_interest” that it will get four arguments: ‘money’ (as float), ‘dd’ (as Integer), ‘mm’ (as Integer), ‘yyyy’ (as Integer) . Here dd is the day, mm is the month and yyyy is the year information of the investment date.

First, you have to calculate the number of DAYS passed from investment date to Today. 

Then calculate the earned INTEREST amount with respect to ‘money’ that is M in the formula given below. 
Note that, you should use the interest rate as 9% as it is given in the formula below.

(10 points)
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Solution:

        public static double calculate_interest(double money, int dd, int mm, int yyyy) { 
            GregorianCalendar d_idate, d_today;  
            long msec, days;

            d_today = new GregorianCalendar();  
            d_idate = new GregorianCalendar(yyyy,mm-1,dd); 
            msec= d_today.getTimeInMillis() - d_idate.getTimeInMillis();  
            days =  msec/(1000*60*60*24);  
            return (money*Math.pow(0.09, (days/365))); 
        }
5. Write a method with the name "calculate_salary” that it will get two four arguments: ‘wage’ (as float), ‘s_day’ (as Integer), ‘s_month’ (as Integer) ‘s_year’ (as Integer). Assume that the s_day, s_month, s_year is the project starting date. 

First, you have to calculate the number of WEEKS passed from project starting date to Today. 

Then calculate and return the earned salary by (wage * weeks). (8 pts)

Solution:

        public static double calculate_salary(double wage, int day, int month, int year)   

       {  GregorianCalendar ps_date, today;  

            long msec, weeks;

            today = new GregorianCalendar();  
            ps_date = new GregorianCalendar(year, month-1,day); 
            msec= today.getTimeInMillis() - ps_date.getTimeInMillis();  
            weeks =  msec/(1000*60*60*24*7);  
            return (wage*weeks); 
        }

}
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